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FLLt - =X 1 60, 020, 588
FNET = 1 445, 235
HRHEI T = 1 427,028 | HEH! 200 m3
L A7 iy b PR PEEME 5, 000m3AH ;
oAb E 1 =X
0 Cabl- EHIRY £5Te) ;
e 1 =
HIL -20)
BT =X 1 18,207 | &M (BLR) B 1= 3 m3
2. 5mATH
Ve = 2 1 7, 868, 250
e+ T 2 1 31,354 |HEL 1 =X
+4)
2/ =p7 " my ) T (R EA7 vy ) 5R) =Y 1 7,697,045 |BIEFTELAE ) -} 23 m
18-8-40 (75 47) JEIE 49cm & 50cm ;
BT/ A ka3 ) -} 2 E10
A
18-8-40 (B JF) ;
BT/ A ka3 ) -} 1 E10
B
18-8-40 (B ) ;
BT/ A ka3 ) -} 1 E10
C
18-8-40 (B ) ;
&7 ny 5k 310 m2
150kg/fH AT 22 350mm JBEIA7° FAEME R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hx 5 m2
T W B i =10 ;
Bl HT Ruiav - 23 m
18-8-40 () ;
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HRTRY L 2 1 139, 851 | EaEav/)—} 12 m2
18-8-40 (&47) t=35cm RC-40 t=15cm ;
H Hi 0.2 m2
TR AHE R B M =10 ;

R [ 6D T =Y 1 48,999, 850

FRE D7 vy L = 1 48,999, 850 | VHIEAR[E 7™ ny ) RfE 200 &
NE7 a7 77ey)fEkE (FER) 8t ;
VAR E 7 ny ) B 170 &
T hIRy N Tey)fEE (GPERE) 8
HRE D7 vy s HEft 200 ]
Eff7 ny) 7 ey R (RER) 8t 7 my A
40 .
HRE D7 vy s HEft 170 ]
MERG7 ny) 7y )RR (R &) 8t 7 myJBEA
40 .
VH AR [E 87y )i i 370 |
(i)
5.5t& % 11. 0tLLF FEiAL - farH] & 0. bkm
AT
VH AR [E 87y )i i 370 |
5.5t &M A 11. 0tLAT FEiA A - PRfHT (BLEE) 1
18 0.5kmPLF ;
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HEYE T Y 1 1,412, 180

s EEE L T Y 1 922,020 |av))-MEEWEUE L 110 m3
EAEAETEY) FEMOE T ;

TR AL T = 1 490, 160 | BoE 110 m3
/)= (AT

By 110 m3
/) - bk BEA%)

A Y 1 1, 295, 073
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TEHX4y « Tfd - FER B Az £ & #A i il R
TEHERKT = 1,177,713 | THEAEKE L 1 2V
(FxE)
2. 5mPL 4. OmARTi ;
TEHEREL 1 2V
€ EI)
2. 5mPL 4. OmARTi ;
TR 1 2V
25X 1,524 X 6,096 (mm) &« #{E ;
A ERE E T = 117,360 | 23582 5 1 =
[ERAE Xy = 60, 020, 588
HiE 2 = 10, 293, 120
BISTIGE: = 5, 426, 120
TE R = 4,775,120 | EEEE AR R N 6 2 1 =
IER M TR 1 =
BGRESGESE (5 L) = 651, 000
B (FEHL) = 4,867, 000
T = 70, 313, 708
Bl gy = 19, 870, 000
T =5l = 90, 183, 708
— R A = 15, 646, 292
TS = 105, 830, 000
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